Chapter 8 Matrices Ex 8.1

Question 1.

() [25-11]

(i) [23 = 7]

i [[30-11/|
v 11 201-4071l|
(v) [278-12-0]
(vi) [000000]
Solution:

I} It Is square matrix of order 2
Ii) It is row matrix of order 1 x 3

(
(
(iii) It is column matrix of order 3 x 1
(iv) It is matrix of order 3 x 2

(v) It is matrix of order 2 x 3

(

vi) It is zero matrix of order 2 x 3

Question 2.

(i) If a matrix has 4 elements, what are the possible order it can have ?
(i) If a matrix has 8 elements, what are the possible order it can have ?
Solution:

(i ltcanhave 1x4,4x 1 or2x 2 order
(i ltcanhave 1x8,8x12x40r4x 2 order

Question 3.

Construct a 2 x 2 matrix whose elements a; are given by
()a, =2i—]
(i) a; = 1.]

Solution:

o
(i} It can be 3 2

4
(il) It can be 2 4

Question 4.
Find the values of x and v if : [2X+y3X—2Vy]=[54]




Solution:
Comparing corresponding elements,
2x+y=5_[i)
3x—2y=4 (i)
Multiply (i) by 2 and (ii) by "T" we get
Ax+2y=103x-2y=4
Addingweget, 7x=14d=2>x=2
Substituting the value of x in (i)
2x2+y=5=24+y=5
y=5-4="1
Hencex=2y="1

Question 5.

Find the value of x if [3X+y—y2y—x3]=[1-523]
Solution:

Sr+y  —y| |1 2
2y —x 3 |-5 3

Comparing the corresponding terms, we get.
_1.?' =7
=y=-2

3:r+y= 1J=:r3.\'r- 1l -y

3
=31=I-{~2}-l+2=3=&x=3=l

Hencex=1,y=-2

Question 6.
If [Xx+34y—4Xx+y]=[5349] .find values of x and y




Solution:

T+ 3 41 |54
y — 4 r+y| [39

Comparing the corresponding terms, we get.
X+3=5

=x=5-3=2

=y-4=3

=y=3+4=7

X=2,y=7

Question 7.
Find the values of x, y and z if

[x+26357]=[-53y2+y—20]

Solution:

Comparing the corresponding elements of egqual determinents,
w+2=-5

=>x=-5-2=-7
=-7,52=-20
2
= :=—*-—5{-}'="4':y2+y=6

=P 4y-6=0 = Y +3y-2y-6=0
=y +3)-2(p+3)=0=2(p+3)(y-2)=0
Either y + 3 =0,

then y=—=3 ory-2=0,then y =2
Hencex=-7,y=-3,2,z=-4,
Question 8.

Find the values of x, v, a and b if
[x—2a+2by3a—h]=[3511]




Solution:
Comparing corresponding elements

x—2=3y=1
x=3+4+2=5
a+2b=5__(i)
3a-b=1__.(i)

Multiplying (i) by 1 and (i) by 2
a+2b=35 6a-2b=2

Adding. we get. Ta=7T=a =1
Substituting the value of @ n {1}
1 +2b=5=2b=5-1=4=bh=2
Hencex=5,y=l.a=1.b=2

Question 9.

Find the values of a, b, c and d if
[a+b5+c3ab]=[6—1d8]




Solution:
a+b 3 6 d
S54c¢ abl |—1 8
Comparing the corresponding terms, we get.
3=d=d=3
=5+c=-1
=c=-1-5
=Cc=-0
a+tb=6andab=58
s la - h}z = (aq + b]z - 4ab
= (6 -4 x 8§ =36--32 =4=(£2)
Soda-b= A2
(NIfa-b=2
a+b=6

Adding, weget2a=8 = a=4
ath=0=24+b=6=2b=6-4=2

Ca=4. bh=2
(ii) Ifa-b=-2
a+b=26

4
Adding,wegct,la=4=pa=5 =7
a+b=6=22+b=6=2b=6-2=4
~a=2b=4

Hencea=4,b=2,0ra=2.b=4
c==6andd =13

Question 10.

Find the values of x, y, a and b, if

[3x+4y2x—2ya+b2a—b—1]=[2245-5-1]




Solution:
Comparing the corresponding terms, we get.

X =2y =4 :...(ii)

Multiplying (i) by 1 and (ii) by 2
Jx+4y =2 2x-4y=38
Adding we get, S5x = 10 = x = 2
Substituting the value of x in (i)

Ix2+4y=2 6+4y=2,4y=2-6=-4
y=-1

Sx=2 y==]
a+b=5 (i)
2u-b=-5 ...(iv)



